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BB A | PEC R AOE | &t B4 I KL HHE T | ARG | =RERGLA L
ERleE | Al RPEAS B | MBS | A A | SMEEE
=t | 178,533 136 129 0 7 0 1 4 0 1 0 12 0
48 =F | 1007 | 68,882 | 55 | 88,092 76 71 0 5 0 0 4 0 1 0 6 0
2| 90,441 60 58 0 2 0 1 0 0 0 0 6 0
5 3,742 1 1 0 0 0 0 0 0 0 0 0 0
—HE | 28 | 1470 | & 1,855 1 1 0 0 0 0 0 0 0 0 0 0
% 1,887 0 0 0 0 0 0 0 0 0 0 0 0
5 5,511 8 8 0 0 0 0 1 0 0 0 0 0
THE | 31 | 1941 | B 2,763 6 6 0 0 0 0 1 0 0 0 0 0
7 2,748 2 2 0 0 0 0 0 0 0 0 0 0
5 5,284 5 5 0 0 0 0 0 0 0 0 2 0
REE | 32 | 1,889 | & 2,609 4 4 0 0 0 0 0 0 0 0 1 0
B8 2,675 1 1 0 0 0 0 0 0 0 0 1 0
5 4,958 2 2 0 0 0 0 0 0 0 0 0 0
HERE | 27 2079 | & 2,420 2 2 0 0 0 0 0 0 0 0 0 0
K8 2,538 0 0 0 0 0 0 0 0 0 0 0 0
5 2,321 0 0 0 0 0 0 0 0 0 0 0 0
g | 16 | 1,208 | 5 1,388 0 0 0 0 0 0 0 0 0 0 0 0
8 1,433 0 0 0 0 0 0 0 0 0 0 0 0
5 5,036 3 2 0 1 0 0 0 0 0 0 0 0
thegE | 31 | 2,008 | & 2,519 3 2 0 1 0 0 0 0 0 0 0 0
2z 2,517 0 0 0 0 0 0 0 0 0 0 0 0
5 3,657 1 1 0 0 0 0 0 0 0 0 0 0
AfEE | 37 | 1391 | & 1,798 1 1 0 0 0 0 0 0 0 0 0 0
7 1,859 0 0 0 0 0 0 0 0 0 0 0 0
5 4,053 1 1 0 0 0 0 0 0 0 0 0 0
FEE | 32 | 1,524 | B 1,989 1 1 0 0 0 0 0 0 0 0 0 0
B8 2,064 0 0 0 0 0 0 0 0 0 0 0 0
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] 7,151 7 7 0 0 0 0 0 0 0 0 0 0
EFH| 49 | 2787 | & 3,534 4 4 0 0 0 0 0 0 0 0 0 0
7 3,617 3 3 0 0 0 0 0 0 0 0 0 0
B 7,807 4 4 0 0 0 0 0 0 0 0 0 0
EERE | 39 | 3,030 | B 3,920 1 1 0 0 0 0 0 0 0 0 0 0
7 3,887 3 3 0 0 0 0 0 0 0 0 0 0
] 5,557 4 4 0 0 0 1 0 0 0 0 0 0
FUEH | 34 | 2165 | B 2,731 2 2 0 0 0 0 0 0 0 0 0 0
27 2,826 2 2 0 0 0 1 0 0 0 0 0 0
] 2,711 2 2 0 0 0 0 0 0 0 0 0 0
HEH| 19 | 1,050 | & 1,329 1 1 0 0 0 0 0 0 0 0 0 0
7 1,382 1 1 0 0 0 0 0 0 0 0 0 0
] 8,460 10 10 0 0 0 0 0 0 0 0 0 0
B | 24 | 2971 | &8 4,099 3 3 0 0 0 0 0 0 0 0 0 0
7 4,361 7 7 0 0 0 0 0 0 0 0 0 0
g 9,996 7 7 0 0 0 0 0 0 0 0 2 0
FERCE | 42 | 3,583 | B 4,963 5 5 0 0 0 0 0 0 0 0 2 0
7 5,033 2 2 0 0 0 0 0 0 0 0 0 0
5 3,172 1 0 0 1 0 0 0 0 0 0 0 0
FAFIE | 24 | 1209 | & 1,555 0 0 0 0 0 0 0 0 0 0 0 0
7 1,617 1 0 0 1 0 0 0 0 0 0 0 0
] 4,514 4 4 0 0 0 0 0 0 0 0 0 0
EEEE | R | L7112 | B 2,150 2 2 0 0 0 0 0 0 0 0 0 0
7 2,364 2 2 0 0 0 0 0 0 0 0 0 0
] 3,704 1 1 0 0 0 0 0 0 0 0 0 0
BCE | 27 | 1537 | BB 1,805 1 1 0 0 0 0 0 0 0 0 0 0
7 1,899 0 0 0 0 0 0 0 0 0 0 0 0
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5 4,257 4 4 0 0 0 0 0 0 0 0 0 0
EZEE | 27 | 1813 | B 2,088 4 4 0 0 0 0 0 0 0 0 0 0
B8 2,169 0 0 0 0 0 0 0 0 0 0 0 0
5 2,936 2 1 0 1 0 0 0 0 0 0 0 0
BRZE | 18 | 1,164 | & 1,412 1 1 0 0 0 0 0 0 0 0 0 0
% 1,524 1 0 0 1 0 0 0 0 0 0 0 0
5 2,801 3 3 0 0 0 0 0 0 0 0 0 0
BRREE | 25 | 1218 | & 1,388 1 1 0 0 0 0 0 0 0 0 0 0
7 1,413 2 2 0 0 0 0 0 0 0 0 0 0
5 6,184 8 8 0 0 0 0 0 0 0 0 4 0
ZEH| 32 | 2479 | B 3,025 3 3 0 0 0 0 0 0 0 0 2 0
B8 3,159 5 5 0 0 0 0 0 0 0 0 2 0
5 2,824 2 2 0 0 0 0 0 0 0 0 0 0
EHE| 17 | 1360 | B 1,536 1 1 0 0 0 0 0 0 0 0 0 0
K8 1,288 1 1 0 0 0 0 0 0 0 0 0 0
5 2,908 5 5 0 0 0 0 0 0 0 0 0 0
EEE| 15 | 1,050 | B 1,461 4 4 0 0 0 0 0 0 0 0 0 0
8 1,447 1 1 0 0 0 0 0 0 0 0 0 0
5 3,526 3 3 0 0 0 0 0 0 0 0 0 0
WHE | 17 | 1266 | & 1,739 1 1 0 0 0 0 0 0 0 0 0 0
2z 1,787 2 2 0 0 0 0 0 0 0 0 0 0
5 2,743 5 5 0 0 0 0 0 0 0 0 2 0
WEE | 1S | 1,039 | & 1,355 3 3 0 0 0 0 0 0 0 0 1 0
7 1,388 2 2 0 0 0 0 0 0 0 0 1 0
5 5,034 4 4 0 0 0 0 0 0 0 0 0 0
WZEE | 30 | 1,840 | & 2,437 3 3 0 0 0 0 0 0 0 0 0 0
B8 2,597 1 1 0 0 0 0 0 0 0 0 0 0
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ELandE | RelH RPEARFM L | HMEIES | Kt & | SN
5 6,551 2 2 0 0 0 0 0 0 0 0 0 0
WromE | 33 | 2319 | & 3,198 1 1 0 0 0 0 0 0 0 0 0 0
B8 3,353 1 1 0 0 0 0 0 0 0 0 0 0
£ 4,828 3 3 0 0 0 0 1 0 0 0 0 0
WEE| 25 | 1832 | B 2,377 3 3 0 0 0 0 1 0 0 0 0 0
% 2,451 0 0 0 0 0 0 0 0 0 0 0 0
5 5,196 3 3 0 0 0 0 0 0 0 0 0 0
WEEE | 24 | 1845 | B 2,527 0 0 0 0 0 0 0 0 0 0 0 0
7 2,669 3 3 0 0 0 0 0 0 0 0 0 0
5 16,166 15 14 0 1 0 0 0 0 0 0 0 0
W | 47 | 6502 | 5B 8,122 6 5 0 1 0 0 0 0 0 0 0 0
B8 8,044 9 9 0 0 0 0 0 0 0 0 0 0
5 3,358 4 3 0 1 0 0 1 0 1 0 0 0
TEREE | 23 | 1250 | & 1,654 4 3 0 1 0 0 1 0 1 0 0 0
K8 1,704 0 0 0 0 0 0 0 0 0 0 0 0
5 5,325 3 2 0 1 0 0 1 0 0 0 0 0
EEE| 29 |2162 | B 2,516 1 0 0 1 0 0 1 0 0 0 0 0
8 2,309 2 2 0 0 0 0 0 0 0 0 0 0
5 7,086 2 2 0 0 0 0 0 0 0 0 2 0
fEEE | S0 | 2552 | & 3,462 0 0 0 0 0 0 0 0 0 0 0 0
2z 3,624 2 2 0 0 0 0 0 0 0 0 2 0
5 3,266 1 1 0 0 0 0 0 0 0 0 0 0
BERCE | 19 | 1,298 | A 1,627 0 0 0 0 0 0 0 0 0 0 0 0
7 1,639 1 1 0 0 0 0 0 0 0 0 0 0
5 5410 6 5 0 1 0 0 0 0 0 0 0 0
SHREEL | 37 | 2249 | & 2,741 3 2 0 1 0 0 0 0 0 0 0 0
B8 2,669 3 3 0 0 0 0 0 0 0 0 0 0
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